i) LYl zeliall 2Bge (o calall s AMiamat T Ss

almahahj.com/ae

Ll L1 220

Sl ) &l dall)

i 423 aall

dno N dy i)

/\-\-5-’11 - 145L@-\-” 1)l.>~_\.o‘>“ d.l.p\_..uj \-7

zarp - Sl i) sl

oy 5 - dily dulie) das)

iy - Sl ol alil]

gl (Sell 38y ali] dapans



https://almanahj.com/ae/id=21040
https://almanahj.com/ae/3math2
https://almanahj.com/ae/3math
https://almanahj.com/ae/3
https://almanahj.com/ae
https://almanahj.com
https://www.facebook.com/groups/grade3uae
https://www.facebook.com/grade3uae
http://bit.ly/2TLbKIv
https://t.me/almanahj_bot
https://bit.ly/3lQJMsD
https://bit.ly/3snyjTF
https://bit.ly/3feRvzw
https://bit.ly/3d9pAOy
https://almanahj.com/ae/id=21192
https://almanahj.com/ae/id=21078
https://almanahj.com/ae/id=21045
https://almanahj.com/ae/id=21044
https://almanahj.com/ae/id=21040
http://www.tcpdf.org

Muitiphy by Juning diSerent xinsisgim, such sy smey, sqoel grovps

el b gl § Cthpdnl | s SiZinl el e phiide B i i

-

-

4 - T e 2 = - L L= = TR
.i?lu..mg.d.q.‘g- ifuﬁlp‘gh_hq‘jﬁgﬂ’m [

3 e chgais 7 4

3 e By D .6

U oo clgun 3 .3

8 e B2 3.5

Muttich by 4 wing difterent itmisges, wurh s double & kaown fect

Gy aa Wk Bas s fa BABA D] e T i Y il

Lo

-

6.7 X 4= 7.9 X 4} =

0 Joganid!

]X
£ £
X

o =

32 Jgamil)

Ay ,agd) AaGs)) Gacls Jagand JS gl Jasul

38 Jognsll

kusply by 0 end Luang difwreni vimdeges

ks et pekiidy 1 30, eted

Llii b odd) Lol g fppad) wondl) Lol fuswis!
(S pdd) e aloud !

3.4X0= .7 x| =
6.6 x| 7.1 X0 =
.2 X I = 10. 8 X | =

5. 7 X0 =
8.9% 1=
.5 X0=




Mubtiply by & using different sirategies (6-9)

475
il S|l plislol 6 § weall {3-8) 428

Ay ) GBS gus) Gels Jegind U5 Sl ou
6.4 x 1 =24 7.10 x W = 60

58 Jsgis) : 38 Jsassll

8.6 X 6= 9.0 X6 =42

oo ol : sa Jsansl

ABy padd) Bl gan) Cels . Japins UE dail Jiaul
3.5 X m=30 ‘ ’lnl-. X6==60 ‘

58 Jsasnsl] : 58 Jsgnal)
5.6 X m =36 6.0 X 6 =42

sa Jsgsl) : 58 Jsgnall

Divide by & and 7 using different st i
by using rent strategies {14-19) 437

ke Sl SRl 7 8 6 5 A

-

o gl U 1 736 5 3lomad sl 201 o el i !

14. 42 - 6= = 7X10=70
15. 63+ 7= «BX1=6
16. 70 = 7= - 8XT7=56
17. 48 + 6 = = 7 XB6=42
18. 56 - 7= - B8X6=48

19. 6 ~6= » 9 X7 =63




Multiply by 9 using different strategies (13-15) a51

Adlia bl ] plichial 3§ aill 6.7} 454

13. 9 X 10 =
TMe=90

7<% 9
9 X

sa Jogall

it Bl GadEun gt o gl il
| 1492 = 15. 9 X 8=
| PH9=18 7 XY =72

7= o=

Jegndd! lowd oadll Sl pudiul Jaul

72 6.9 X m =36
/2 X9 =36

sa Jsanal)

Divide by 11 and 12 using different straiegies

s ol A plliaiol 12 3 11 5 dacukl

(B-186] an

Jegins U5 slom ¥ Bwlan i paiiul sl

=
X m=77
= Jousnsll

.12 Jus
12 xm =48

=:‘J!I=,j-l

L33+ 3=

-

9.99 -1l =
Il X m=99

12. 12)96
12 xm=96

= :,]EI e =1

I15. 66 = Il =
= :JS!E‘-!

10. 44 = |l =
HXm=uy
= JSB’; ||

13. 11 J88
Il xm =88

= :JE s =1l

16. 36 ~ 12 =
= :.JBI’: |



Write and Aumerical only one aperation (3-13) 523

igtad oy Busly dules o igyiod Sais e’ S {z-5) 526

&3 o,
i 3yl S WGS) lledtly Slac¥l pasiul
ol S 6 o 2355 Bgn 5 glls) M 7 5e 2514 .3

ssludlls AED 21 lpoid jalsizl 3 .6 I8 s33)) acas .5

degems S goind clegns 6 .8 80, 89 i b,all .7
e T S

oSl 5 B7end 1etd iS) (D192 ¥) Godind B Gaalisi 6 g
10aSs Ledis 2440

seobud)) alaii U410 ooy =i .9

iE3L) sealuss 1012 LIS ae

kS § et S BB SEleilly Slacy ]
47, 58 o §,201.3 Olelis gsards JS b Gaslia U .2

skl golsnal 10 Le Liguias 4S5 30.5 12 ) dilas 5 .4



Explore and model unit fractions (10-15) 565

pll o Ay BT

(5-8,12) 568

.g‘s,..:'. dS B (el gl B G 3=l S s

10. Il. i2.

13. I4.

| | 1 1 g L
v 3 3 I} 5 )

a3 8 CES1g Shatg 1258 L Deludi 3T 2ik CEST

s 2551

[]

—— .5isa]l 1L

[]

Bgluzs 33

]

;aksgll pos

[]

6 )
Gglacs 2l

]

aslh S8

8 ;
Bislucs #1351

raas gl LS

SLas Y

AN G izl o330 By g3
® © %

® ® 3

£ wl—

5

Ew

e (3 e

sitall ;45 L .12



Read and write fractions that name part of 3 whole I L7 I 570

F (o i el 3 By el 3

r

aw

“:‘:l',,’"

dgx 30 Oasked

[ """”,J,-‘ s X2 - oL »
i U5 Ad 1548 CES) L dadasdd) Ny

Al i
L T 2L . 2
Qaled! osledl LS £hes
ooy, {1 Bl i

HEERNE
EI GO

e

e, T e T

Gelen L2 dm G 2isu T
3y pliy,” | +H0Ee

L0 (I

.3

LI | ]




Divide by 3 using diff I related mult facts Eiample-2-Jia 366
Al il plasial 3 e dadli 5 367

2 Ja |

el (4 ] iy 305 0 A St S0
18,0 S B bl das 5 o 3 glé gl

b+ 3 mb iyl

Al s sl BLS jaladll 82

0 ) e o 3 e il 6 0 g0 001 ]

R | RS PR (L SR Il | P g
b6+3= J3)

4
e Al - fal . e g Eki

geuad) G0 o ¥ LI5S jelaidly 32




Divide with 0 and Lusing division rules (14-16)

Aaifl ol gh pliceiaals 1 Je i) 90 dad (9-13)

F

Jolugd) o=
Lo 2w ¥ dedd 33l 31

3ac u...]au JI s G5 15l a.x_s!, igling n_nbLLs 7 L.-.\.! A4
Seidh aliall 552 (K8 gty JS e d YT
Salgls JS Lo Hpsalids

1S y . ke EXW L]
IO PP ;.1:....'.1..;,." J.:....a .J...:..: @ ::....L.,_u 15

o.u.-l, JS L.;...L; 1_.J..A:.- L,..Jl' el ._11551 3ae @5

Sae 88 . wmfﬁgsﬁummr#yw 16

N

Pluss 35 &

ot Slowm¥ Agusd Bl aS!

Sl JS Lpplz Jindgn o) il G80 Sae 4K 5anliE 15 aS5Las 3 Ll 5 23 .9
. . 2 e el = " < CNIWETOeTT)
o3 Gal) e By 2 L)) e B3 it Rl aaed <€ "'.!';".:jl 10

Dl G des glh Dozl ) Gl Sl e ol JSJ Basly st 3
Slyshasiz ) ) A2aza Bale ¥ Flosd 2lh o) pad) culByall 352 g5 .azofl e

tiial 5y 2 G Gsesludil pdsbhd o aall fuslain 3 Tgay o335
Tpdie a=ls JS sl fujledll 35z @S

FS J..m.._a_\.h-hquap_.u)dja_.m _n_..;.JIEs‘,_u_.J‘_-L.IPE;L._.J
Q'E-,-:J Lysass s h_,...]l .él_L_L'y-_..H 3ae

LSV e Ga e

pS ._...5.” L]..,_-p._l 3aslg dJ:- La.-.lJ |_...S 6 L‘J ,_;_\J
‘La...._..a:n- Uﬁ (59 SSJJ |_._._<J! 3af
Zes 1 © A8 T7 ®

ZLs 0 @ Li5 6 ®

A3



Multiply by B using different strategies | (16-19) | 445
s il plasicl 8§ el | {7-10) | 448
T
16. 0 17. 8 18. 5 19. 6
X 8 X3 x 8 X 8
o !

7. 1 8 - & 9 8 10. 3
=g at = 1 %8

Divice by B and 9 using different strategies | (57.11) o

Adltin il pliRiak 038 e dandll |

apons U5 slow¥ ksl Ll pudiul fad)
6.1 -9 =14 7.64 = 8B =

X8 =16 4 x9= % 8 = 64

St le G b

Baadll Al b Jogsll slow¥ EuSal) ELAN fasa s Eaiz alis G I
) ' 8l +9=1i

® 90 — 9 = 8l ©8x9=72
® 72 + 9 = 8l ® 9 x9 =8l



Multiply by 11 and 12 using different strategies {2-5) an

Al Ss Sl Al gl 12 3 11 3 wipiall {L3) 473

b Go B Cid At pis s s

+ __ + c i2 gala Il 5y g0t 6.2

» —

+ + = 12l 12 e Cgain U .3

» —

. + = faigala ll 4o ipin 3.4

» —

P F =T A wiai? g ana3 s

1 e = iz aalad Il Sy c2ga 5 .

4 =

+ + = iz a3lae 12 s 89an 3.2

o —



Apply the Distributive Property of Multiplication to find products i3-10) 503
i Rl LU g5 S {34) 506

w8 dlow¥ ga3ed! Ldls pasid)

.U X 6= .6 X 6 =

5.8 x9= 6.10 X Y =

7. 20U = 8.1l x 8 =

92.10 X 10 = 10. 12 X 60 =

o 0 S slow¥ paed)) Bl fasi)
3.5 x Il = 412 X7 =



17

Apply the Associative Property of Multiplication to find products

[B-11) 515

it Aol plasilaly wopith il i)

{3-6) 518

8. (3 X ¥) xuy=24

gsld Jsyail)

X (3 X 3)=27

Bl Jole JS domgl Feo
9.(6 X B) X5 =30
ol Jogansl!

(2 X535 Xu=20

ok Jsgnsl! gslud gzl
1083l Jale S Sargl fuodt
X 4)=32 Y (2 X W) X6 =60
ol Jagansl) ol Jsaml!
) X | = 145 6. 0 x (4 x 2) = 4sg
g3l Jspnsl sl Jsamil!



and solve two -steg o using with a variable [11,12)

542
drly i e Sllaal) placiiad gl risiad e A pflall A YEN Bl Ll i5-9) 544

. : T Sl 5 a1
a_f.:.S} @Jiéhg“uaaa‘.ﬁ:.ll@ i.‘....l.n_,.n
Jaddl 23ua gad cedlgil!

UJ_;A_.Iﬁa.L.J,g_aJSJJn.aﬂu.aﬁcm_J.h.a Al
Lsen GI] foatd 81 lig) gl e flisd oS J33)
943 cm ¥

1) q.z.n L,,,_u.l A ¥l 20 352 o€ gl s )

*@é;i-i-” az ) e Eaas oYL 5 e OIS

= s o

&) Logd!
Ith.‘n.._u.lLa dJ:Ll.n |_...j| ‘Jﬁ.” “ ““ u‘ '\"‘h'" @ ﬁhﬂ'

II.\.

u......:.m'u.ndg.n.n3.l_‘hy ln..ul.“ QJSPJ)H 3 pgac> Jnl.n...”g.i 5
6‘-’].:&_:1JJ||_4.‘QJ|L§5...:-.J3 ._.n..aﬁ&’ﬁu.....c.‘.fay'y
@J_,AJ":BJ.:E,J@:;#;J'HEU1 A.I..npj u.....;'.'f

p...ub-g ‘J—IJI-B’LH—'I"J—JH—.Q—-IJS - 0 15 Ly ZRZE) .._A.\.;| .6
P.u.ll—'ﬁLJSIJFJLﬂ-Iﬂ MfLL:JH:-UUJU5MJ5]FJ ésL..u..JLu
u.JF,lLI:uﬂ.\.u;pS P_.I_-@_Ja‘-,.s‘,h,m._..&..gg.mu‘z‘l
SL18]

Gl goll B 3 ppisail clos 215 83 LLly i) 7
L]Smuhlﬂ’;um_,u_&w Ld..n_mn_aLdiBJanLa
qtg_._....JJSa.,.th e yas 5 ‘:,_Jl elsigll oalodS 532 o8 69""'”1

SAED 5 Lyes S o Bas gl S8 $33 13) See ddiwns (i) 2L

JL&-‘;?' U.L'G Q.I_,.‘s
H_aIUaHLHJBuJ.nJ_u, aJ.._...'Iw_UL;J; 9
calsd) Jlg_.ndhuﬁu_:bjéyuh deasy Ja¥! il
J_.,uw _.,'nLhn_,...Lsh cds s U Eaerms (sl Joand
L
® Yl 5=y @ UxB+y=u
®8xUu+5=y @ W+u+y=8



Represent fractions that name part of a set using models

ilatll Lt Ao pasme fpn a8 a0 el LS

syt (B el 39 L

$5155%) degedia G Apazigl)

d}.l..n'w L-H L&.‘Lﬂ ,—ui-” K.

{‘J'MEF d.&g..u-..n u.a 4..,1,;.1?!

aJ.LI.&..A"a“.iD

0]0/0]6/80)0]0)

.__.k,S'z‘I i Lj.m 3280 Ly 12

S sty Byl EN

; A A
L Ly LS '

i "ssﬁ l:“;

l9_~.._9'ﬂ JP_, J.._,_. ‘é.x.il LY | DS 1
n_al.u]'g.:h._‘i'ﬂ AZgats 4o ;1,.1..:;]1

— RRRRK

U.JT delag) ._j—nd.lJ'l _,....5.|| La 5

c..\.c.Lﬂ-a-” 4.:54-?-4 o =|.5;) :

PP T'

- - -
et ol e, e L w2 8 =L
.M!Mf&wﬁ&&

s |
JJJE-J:'i‘.?

OO

TR _':L 9

OOOOOO

LAl Alagd of dadodr CEST

dasdilh cul s B pall 20800 Ly |
Chail oS8 a2 gedis o 2l S50

[l mEm
3



a3 350 J_h,‘ dm H.s.n L.7 gl Jig g_ﬂl 2280 L 6

Heee

kel g it 2080 L9 | ) s By i) 5K L 8

dcgema u—edﬁ—:-” FP "'J-"--:‘—“ dbgutn S Mimn Sl
Soalzaill .
o

mEs
@ &w'ﬁs@

¢
y

o2 3z ) Wglond S 31 Szl 1] "J"‘”:""JJ. a

d—ﬂ-ﬂ*d——"u'—-‘-ﬂ-"-s uﬂsﬂﬂrﬂ-’-‘-ﬁ‘—':“-ﬂ-ﬁ 3, uﬂ&hﬂ-ﬂ-ﬂ—"'-d

auﬂ._,»gha,-umﬂ—awhf—dgﬂirﬂ'h—" il gy hiey
SLlh G g fadd

ML‘t—g_j,—a—l’.&J——dt d.l.La-l ='_,...uJ |35-"‘"-JJ .lJI‘_-- JJaLr. 1;&4: 2
\J-“L:'_SJ d.H.A 1_1' '3 ,_|u.|..J1 d.._}_-;-i'l_,.qi_"l-_,Jg J_b_gj1 d.'a.l;-1
u)-" !n_,_il d_;_|_-|..i L'-‘-’ Ls_ﬂl ,_....S.H Ls 'k'.\....as ’u.n...” su.u-‘

Gl Y piaan
SN e Bo v

1—!.‘.! aadaldl J—.n LS"J} ,_..._‘.Jl L .13
L‘EJJQ.J:L.” \.1-“ o_\ﬁ-ul d.....r. uJ.r_

©
®% ®

[

[]
L],
[]
=
L
L]
[]

coju ool

zan



Salve problems on writing fractions by using the draw a diagram strategy {1-4)

A ) s bty Beall Jo {6-10)

kS

i I
P-".u--o-ﬂ-n.lﬂ-"-u-"ﬂ

-

s S

E

%

8 2itj oo (ustou) ) dlend i

& s ¥ le {..JuSL:-.JI} a—lﬂﬁ e E—M
aJ.:..ﬁ 5 L_.Jm:.nsi UJ_;':-H ) 580 chis

2 880 Lo A58 Bded o a5 (L) d
Lelaazhi @ Gt (GuStedl) glas By 580!

E b H S
=

uLu...-od'f_,.ua .'a_-p|_gu.:-.u3\_L)L.nuk_|...1._|..a.

lﬁ.‘d"' ILB L—.a:.JLu-.saJ_,.-ng ._13.’:;.”.1

Q
[

::lJ.nJ" L.E'-'L' U.E \..13“:3 a.:'}L h).a l_;1|...||_'||:| N

i e HIL, A <l ._1I4,LE.=.a glads
syl e s 5 Gadl) Ol &2 gaded

.L,,.du.a._...ﬁ.!lu..ﬂ.x...ulm}h ._...5{54.:-3.1.

aaL._.u'be L.SJJ".z.l |_...5J'5 hH.a'f _'._'-}5 ] T
Q.J.d naL.....u'B'l ;_...5 53z pS q..l-ﬂj

L A L

1
i

H0OND T IR WD



o ;-._::...L_,_._,'sr};”;._;.ui.:._,&;_'_, T2, als .

4....;:. .._.._....Jg...” .1.....uL'f| 3is |..5 .1.....4: .'..._..ul:ﬂ e .1.......f.-.¥|

Cadaia® ,J.u.'-.L..J'i_q,.nLlnﬂ._H.:._‘l..n...J": L-:;.‘_...S_J.

13.1-:.‘ 3:1::_:.: L‘l—q LIJJJS d-'LS—n.u 2 '_ aa’gJ:l
""'a....g |__-||.L. ‘.'LJ‘

_:Lo-l-”

Folawsd dio oY) @ Zan T
‘nLdJ L‘:-.I_'l_‘- 1_d.d.'l _;_g.nun Uj - | W = EJ'. 1'_&5
Al Ian'l” e oas G sl .;.._...'._;;'."Ji 2S5 fu..?.'u-.
G et | I EE (S S ol |

"_._‘_,...n;-.Jl rg._u_,J' __',J A.L;p:r rﬂ_‘i-‘ Lr_.;.l_g.f _:,.EJ‘



Fal

Divide by 4 using different strategies 3 isa

Ables Sl plistads 4 40 Rl 157 385

20 + Y aiud b sleu¥ 538000 g0 pasan) .3

(=)=t

20+ 4= )

dde gi 45 gluild) Sile godmid! ."m..s. .‘llb_l.l" aadl ehﬂ Fd—"h.l.ui'
Fole G Tt ._IS u-" asdl e.hs

ic a3 4.5 ic 22 28 .4
Bgluii cilegams Y Ggluis Silegems B
dipand S\ b » iigems JS
4)a ] + = 13) [4)28 41.28 + U4 = 13]
SAadial B 53R £idad! ausui)
Multiply by T using differant strategies I (18,19) I 43z
ks n Sl i pAie 7 i) [ (7-9) [ a3

o it B3l 2SI LD g 18 ks 13500 ! Raaidla Sidd)
.J.-h."..k.i-_gipa ,J_g.‘a‘.qﬂ_,.._,ln! ? S Y

._:.._._J;L...IL__,;QP.,,...“JS.I JnLﬂ-?d—BLﬁ:q-o53r-nL1JJ—"-—"I8
""'L,,.._L:. ng...n_--L,..Jl JnLn..le_.g...:-..upia dJ_u."a_,j

JS EsLs 13) aanbi 352 @55 _.ngia_.ﬂ 8 i:5: L_g.u A9
Q_L...._.-Lj' ? l___,.q...:n..a da‘g.h._u‘



Hlusdt J5 &

d.-n.ll ..La-r_’i ;: ._],‘.-.....l.l o i l.h.\nu.ntl.l u_,an d.l.@:- s...uSl |
l_:leb 9 U'“ a)s.q _.;-L._:-l t-lhﬂl}‘r“ ‘.pm M "“::':':: .7

L._...JIUL;._zl.a-gJ7.n_-.3.. CL...uJIUJ.r.MJ-l.eﬂJ-SJJS lLlaJ

FPAN £l B d3smaad) S5kl G Jia NS o2 38l 7 L5y .8
.lji_g...” Jic F.S.e EJL""'” u...'ll:v L_}.e a—.:l:-— Jﬁ L'_,J-r- J_JL-.c 3 .l;-g.}g
Shlkh 53gball Eals¥

.:'-s-'b:""' e G i

wlelys 7 o ol Jlaail @l cleliall 3505 dgu . .9
Sphlaiit) L__._n whlby) sie ¢35
=) 9 © olls)l &
|;1L1=!-II'|' ® AP ? ®



Evaluate algebraic expressions at a given value using two arithmetic operations a1 most [B-17] 529

A e e (e pladials Baions dadd it dugndl bt pad b (8-6) 531

B.6EXd4—y B Sl 10. 28 =z % 6

9= 2 515 1) AhEAN Gy yantdll Jaungd Lk o)) ol

M (5+3xg . 5
12.gX5-5 . 11
13.15-9 g i
#¥.5+3%g <16
15. g X (5 — 5) . 4

=12 (515 15] B iyl et el ] 3 13] gt (¥) g1 (3) o S

6. n=Ux§ ¥ o 1 S 1 §
12 +-4x%x6 12 +12 =4
| ‘\/ |

3 x 6=18 24 = y=4
i ¥ s Yy

21 817 ) 16 o e BY (9) cbgs 1 18

Y= 64X =14 GIS 13 puusd IS ded iyl e

4. (x +y) + u 5.%—2:%2 6.y +2u <+ 2
A feaming outeome from the Saw Undisdosed Undisclosed
Al T e g5 olae ik ek
A leaming outcome from Uhe SoW Undisdosed Undisclosed
Ll Tk g g Dlas gt an st




alManahj.com/ae



